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Math 60 8.3 Introduction to Functions, day 2

. Objectives

1) Understand and use function notation correctly
2) Evaluate a function or find the value of a function
3) Find the domain of a function

a. Absolute value functions

b. Polynomial functions

¢. Rational functions

d. Context given in a word problem

y = f(x)is pronounced “y equals f of x” **THIS DOES NOT MEAN f TIMES x**

Examples and Practice

1) Write the equation y = %x —1as a function using y = f(x)

2) Write the equation y = 2¢* ~3 as a function using y = g(¢)
3) Write the equation y = 2¢* —3 as a function using y = P(z)

Find the value of the function. (same as: Evaluate the function.)
4) Given f(x)=-2x*+5x-4,find f(-3)

5) Given h(f) = 31—4, find A(2)

6) Given g(x) = —;-x -4, find g(12)

Write each statement (given in function notation) as an ordered pair on the graph.
N f-D)==2 8) g(47)=-6

Write each ordered pair using y = f(x) notation.
"~ 9) (3.8) 10) (-9,0)



Write each ordered pair using y = g(x) notation.
11) (1,-6) 12) (-2,~5)

Write each spoken name using function notation.
13) “fofx” 14) “g of t” 15) “R of z”

Find the value of the function. (same as: Evaluate the function.)
16) f(x)=3-2x,find f(z+3) 17) f(x)=3-2x,find f(2)+ f(3)

Find the domain of the function. Write the answer using
a. Set notation
b. Interval notation

18) f(x) =] 19) g(x) =573 +46[x — 24|

20) h(t) =3t* =71 +5t* —t-31 21) f(x)=3x"" +2x* +1



22) f(x)=x"

x=1 2x -1
24) g(x) = —5——
a4 )8 =2

23) h(x) =
x“=-x-1

25) The speed v of a car as a function of time 7 (in seconds) for the first minute after acceleration is v(f) = 5¢.

Solve the problem.
26) In 2010, the Deepwater Horizon oil explosion spilled millions of gallons of oil into the Gulf of Mexico. The

oil slick on the surface is the shape of a circle, with area A(f) = 0.257¢> where 4 is the area in square miles
and 7 is the number of days since the explosion. Evaluate 4(30)and explain what it means. Round to the
nearest hundredth.



